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I 4§ 130 0 4 X440 T XK=t e RIXE P fEAfe 2 7] H 85 Silic o (54)
2. A1 RP6<X<I4)(FI; TT) o (5*»‘)
3. AR E R M S22 K E 0 ¥ 9305 7 02 0 I 4 e (Poisson distribution)
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2. FAEl 2r wmBp Y R CEEYLM A C=arky > FC2L AP (54)
30K r AT BWFCEMNEYZLM ARG C=a+k(Y-rY) » RCZ A f o (55)
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FhEe (2 304 )
AT TR EXNE V2B EP T opfe s
fy)=k(x*-»)*, x=0,1,2 , y=-10,1

feke (5 2)

FAE R XE V2 BE S S 8k(10 4)

1.
2.

3. R RE R S Sl f(XY=0) o (5 &)
4. F R EX|Y=0)2 V(X|Y=0)- (10 &)

AT (% 304)
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AEELZH AL A B AT AT

A ¥ A i ATl | HAEEL
*® A - n, =10 x =120 5, =6.2
A= n, =13 y =160 s, =55

I R Fad * Tty —u,2 95%ERRE? (154)

2. B F L Eg=005T R EA A MOTHEILITHE? (154)

P (X 30 4 )

#HE100 B r T g KL THEE I T 3250 250 & ik
BEo=D0 25 o K Tm & B3R Hy: u =250 > %> B3k Hi: pu <250 3#
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Al (% 204)

The following was the average expected losses due to failures in ten

operators before and after taking a strict and professional staff training

program.
Before

36 | 70 | 44 | 125 30 | 60 | 82 | 44 | 30 | 18
()
After

40 | 62 | 46 | 120 33 | 52 | 76 | 39 | 26 | 10
(2)

1. Construct a 95% confidence interval for g, —pu, > (10 4 )

2. Use the 0.05 level of significance to test whether the staff training program
is effective? (10 %4 )

A (20 4 )

In the accompanying table, x is the tensile force applied to a steel
specimen in thousands of pounds, and y is the resulting elongation in

thousandths of an inch:

X 1 2 3 4 5 6
y 14 33 40 63 76 85

Find the equation of the least square line, and use it to predict the

elongation when the tensile force is 3.5 thousand pounds.
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Y EAF D E Z~N(0,1)"
®(1.24) = P(Z < 1.24) = 0.8925, ®(1.25) = P(Z < 1.25) = 0.8944, ®(1.26) = P(Z < 1.26) =
0.8962,  ®(1.28)=P(Z <1.28)=0.90, ®(0.84) = P(Z < 0.84) =0.80, ®(0) =P(Z < 0)=0.5°

t & pe
t0.025,19) = 2.093 > t0.025,020) = 2.086 * to.025,21) = 2.080 » to.0s519)=1.729 > to.05,00 = 1.725 >
to.0s5,21) = L1721 » to025,8) = 2.306 * to.0259) = 2.262 > to.02510) = 2.228 » t0.05,8) = 1.86 *

to,os,(g) =1.833 JEO.OS,(IO) =1.812 -

F & fie

Fo.025,10,13) = 3.25 » Fo.0s, (10,13)= 2.67 * Fo.025, 13,100 = 3.58 * Fo.05, (13,100 =2.89 >
Fo.025,9,12) = 3.44 » Fo.05,9,12) =2.80 * Fo.025, (12,9 =3.87 * Fo.05,(12.9) = 3.07 ©




